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c c c B (
35m 35m 2 2 )
. C-2 C-2-1 C-0 B0.1 .1
8 7 8 7 8 7 8 7 8 7
6:50 6:32 6:28 6:15 6:20
Cs-134 2 ND(L.0) ND(17) ND(2.6) ND(17) Cs-134 2 ND(17)
Cs-137 30 14 ND(25) ND(2.2) ND(25) Cs-137 30 42
B ND(19) 26 33 15 B 77
330 T-2
ND
MHCKOFERK |
Bq/L “?"“m*'_?f_‘_‘!i’-?l__i
c c
35m 35m G#?kl&%mmthﬂ
T-2 c-2 c-2-1 T
Cs-134 2 35 11/9 45 9726 29 <7/18> I
Cs-137 30 81 9/1511/9 130 9/26 10 <7/18> ' E&SF’ RREE '
B ND 2500 10/24 45 <1/18> ﬁ
c S X MBAISC HhKBREE
2 2 ( IZHELNRREES TEY . CHEKER
c-0 B-0-1 ) ~OFNAFTHYEEA
i 0- 1 | ~PANRHIEHYE:
* RRES IBEEITEME
Cs-134 2 20 <2/15 110 <5/1> 450 1074 !
Cs-137 30 51 <2/15 280 <5/1> 990 1074
B 120 <2/15> 380 9/2 15000 1072
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